(BI#E) RREERSED v IO RAEMEBEERES

S R | E&(m) | 1&(m) EHE () HE
ER T &t 4, 458. 6330
BT 18 3,595. 7745
1 |26V |[hRET 121.70 3.80 462. 4600
2 |E5Y [HABERERT 55.90 3.50 195. 6500
3 |EBY (7 T7IL—LAEIERT 97.15 3.50 340. 0250
4 (BB |REEII~EBEEM 97.15 3.40 330. 3100
5 |BHE |(BE=EA 41.20 3.50 144. 2000
6 [RE |/FEERET 33.70 3.30 111.2100
1 |RE % B9 — LAl 34.35 3.30 113. 3550
8 |[RE |ERFR=RI%MEA 2.70 4.50 12. 1500
9 |RE |[$hFEEBHER] 10. 20 3.30 33. 6600
10 [RE |(REHEE 8.40 3.30 27.7200
11 [ K& | KIKAT] 36.50 3.30 120. 4500
12 |5EE (16 74. 60 2.09 155. 9140
13 |&nlY |BER 13. 60 3.50 47. 6000
14 (Z25Y |5~ BEHER 1 44.80 3.50 156. 8000
15 (25l |FAl~EBHER2 44.80 3.50 156. 8000
16 |20V |BEEBEHER1 26. 80 3.50 93. 8000
17 |0y |EEHEE2 26. 80 3.50 93. 8000
18|Z25Y |OPKY S8H&FR 5.40 16. 00 86. 4000
19 (BR |/hEEHE~FHt 95.55 3.30 315. 3150
20 BE [(KRt~XHE 27.45 3.30 90. 5850
21 [BER  [FteXRBE~ b1 LAl 10. 80 3.30 35. 6400
22 |BEE (Bt ¥rSU— 12. 60 7.65 96. 3900
23 |BRR |HHEERT 39.60 2.25 89. 1000
24 |BRR  |HHE L EBAR—ILE] 3.00 4.05 12. 1500
25 |BRR  |HHE~/NFEH 19. 80 2.50 49. 5000
26 |B3E Hhigh X 3R = A 13.50 2.60 35. 1000
2] B /XY 3 U ERI 2.30 2.90 6.6700
28 |B¥E |[HAREEH 9.72 3.60 34.9920
29 |B3# BEHRRER 11.83 2.60 30. 7580
30 |EE (BHEEA 14. 95 1.67 24.9665
31 |BEE P& B AT (2 BT H) 5. 40 3.60 19. 4400
32 B Rimk—IL 10. 56 6.90 72. 8640
BT 28 735. 1865
1|8 |fAE~ER 158. 90 3.30 524. 3700
2 |EH ILAR—4—FH] 10. 87 2.55 27.7185
3 |BER P& B AT (2 BT HY) 5. 40 3.60 19. 4400
4 |HFEE (26 53.00 2.09 110. 7700
5 |FEE ZEEMAR—X 6. 00 5.30 31. 8000
6 |HEE |TLAR—F2—FR—IL 6.59 3.20 21.0880




S R | E&(m) | 1&(m) EHE () HE

P ER 127.6720

1 |fRE ZHBR—ILEE 4.60 3.70 17. 0200

2 (R [/NEEBET 5.30 3.70 19.6100

3 (R [EMTER 5.30 3.70 19.6100

4 |EE [BE=ER] GREEAD 5.60 4.06 22.7360

5 [EE (BE=E§] (BEEEAD 5.60 4.06 22.7360

6 |FES [REA 4.40 2.95 12. 9800

1 |HFES (BEA 4.40 2.95 12. 9800

BER =) 464. 2200
1 B |[REXEFBRAR—X 13. 80 7.50 103. 5000

2 fE  |EEXEFBRAR—X 12. 20 12. 60 153. 7200

3 [1F& EHYRBEFRAR—X 27. 60 7.50 207. 0000

= 4,922.8530




